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Therefore, it does not bear — 79957 NI IRV PV KPR KW WN N7
but only the sin of Tum’oh which was exempted from its rule

OVERVIEW

The &Xn>92 cited the P05 regarding the y°¥ that 2w 1w NX 1A% Xwa.' The k02
elaborated that the y°X cannot be 7% for 213°5 or 7011 since the 77N writes 7877 XY
and 2w XY, it must be that it is 7% only for ARV NV, since ARMV is 79221 TN
(7M2x2). Our M1OIN explains the necessity of the ‘since’.

mooIn asks:
- 914 NYN N‘)‘pb zm‘pmb N7 Y 7199 119991 NAMNY Y N19Y BN 139 NN

The n'9 is astounded; why is it necessary for the Xn»71 to give a reason that
N2 was 99en 7N, we can derive that the y°X is %% on IR, since we

cannot establish the 105, only regarding XY -
= 99191 DI )Y N YI9NTS

As the ®n>2 explained, ‘if it is the 130 1w, etc. that the ¥ is 73, that cannot be,
and similarly it cannot be 7M1 1, the only thing left is XM, why the need for an explanation?!

N1B0IN answers:
- 20Ypn DIVA AN 1Y WIY 934 RIN N8 RIT ¥UN NPT DIVN BN 19539 1IN

And the n''1 answered because the inference of the oo is that the y°X is fx9»

only for a prohibition which has a an>7 someplace else -
- >DAY 89Y NYPT N9YDA 29N

As it is written in the end of the 95, ‘as an acceptance for them’. Therefore it
was necessary for the Xn*>2 to explain that 7% 1 meets this criterion of 1975 .

mMdoIN responds to an anticipated difficulty:*
- 49903 NNINTY BN NNINA *BY991 19T 3133 1M 9I1N9)

And 2n121 91390 are also 25%2% 9017 by 217> nman and 29501 N -

5% ,mo (Men) nmw. The entire P105 reads; NINM 939 HRIW° 12 WATPY WK DWIPH N IR TIAR KW TR 7¥ 9V )
T 0195 Onk NIXAY TN MR DY M amw .
? The ®n>2 initially understood that the y>%7 "1 is only for something which was 19921 9mi1 someplace.
? See footnote # 1. The words 071> 11¥97 indicate that at certain occasions this 17 is 11377 (even without the 7°%).
* If the y>71 "% requires a 23p» D32 07, why did the X012 need to negate 1M 135? What is their 2wa 07
0pn? Our mdoIN answers this question.
> Therefore there could have been a X" that the 77X is 7% for them.
% o°372 nnan is when a 171 brings a 7nan (which is not eaten) and 0301 N is where one bring the offering of o302
only, without an accompanying 727p.
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- 799359 DIVN BAYYY B399 PNT (0w 3,3 oonan INNDY N3 P9 INT
For the mwn teaches in w'2 P99 that one is not liable for them for the
prohibition of 1.

mooin offers an additional example of 19951 7M1 by 00"
- 511392 19957 1M MIPNRY NI 12T TN

And furthermore the 91372 of a ™ pn% v 2wWnn was 19952 907 by a m»a.

mdon finds support for his contention that y*¥71 "¢ is only for something which is 1991 1m:’
- Yoo1990 0193 15991 1MAY PINPY PY RN 75197 (03 mmm N2 YBIPNA ¥RUM 19

And it also seems so from the X723 in 7739 Y2277 P19, where the X712 asks, ‘let us

say that the y°¥ is 77 for the »x»w 17w, which is 2719857 212 W9on ;" the
X7n3 there responded it cannot refer to PXnw 1, since -
= PIPNT 2 PNV NY PY KD 90N

The piop states ' (sin); meaning there was a sin in this type of 772y, and I

pushed it away; however by the nwp, that is the mode of this 772av. This concludes the
citation of the X7n3. NDOIN continues -
- P1yah XN Y NP 5909 700 PYIINT DIUM 199

And the reason the &7n3 rejected the >Xnw 7w is because the X3 relied on the

word %99, for this is what the P05 means, an 1 that is 1789%; however by nwp
SRnW3 it is not an Y.

nvoIn asks:

" If one had a mawnn of T PN or ¥pn? yIn by these nnan there is no 20 MR (for eating the 7MIn). [MOOIN in
X7 7"7 2,20 0°127 maintains that the N are MAw>. There is already another prohibition for eating a 375 nnan.] The
reason is that the 915 Mo*x (for eating the 7w3) is only if there is a 7°n», something which allows us to eat the Twa
(such as 71 np 1), however by 0°301 NI 0°1772 NRIA there is no 7°NK, (a 372 NN is burnt, 2001 NAIA is its own 7°NN)
therefore there is no 2135 MOX.
8 Before the P"nm2 was built, one was allowed to build a 772 and be 27pn a j27p. That 3279 could be eaten
anywhere, there could be no 2109 of 1Mpn? v 2awnn. See ‘Thinking it over’.
? moon [really] wants to prove that we derive the requirement of Y29 %7 by 7% "% from the word 17%75.
10" All the mmay in the p"»im (including 073 NP> ,077 N73p, etc.) had to be done with the right hand. If it was done
with the left hand, the 772¥ is 79108.
' On 2" when the 3"72 entered the ?"77p he carried the shovel of coals with his right hand and the spoon of nmuvp
with his left hand.
"2 This (alone) would seemingly be sufficient to prove that y>¥7 "¢ is only for something which is 17%2n M
however NoIN continues with the answer of the X3 to prove that this is derived from 1¥1%. See footnote # 9 & 13.
1> We reject the 7% "1 by 2xnw through combining the words 71 and 11¥7%; even when it is 11¥7% (where it is 07
1990n) it is still an 1W. By 28nw there is no 1W when it is 1%17; it is the required and preferred way to do the n712v.
However by nxmu when it is 11¥77 (by 7112¥2 8™ where it is 19991 M) it is still an 1y; it is not the preferred way
to do the 772y. (Otherwise [if the P17 is just from 11 and not from 1%¥17] how did the &»3 derive that 7w means 1
RN 2 YY)

2

TosfosInEnglish.com



X 7"7 2,70 oMo .70

- Bnnaa 99591 9Nt XYM Y NPINY M) 7599 DNNT VNN ON)
And if you will say; that the X773 there (in nmin) also asks, ‘and let us say that

%77 "1%°1 applies to the X¥1 379, which was %952 2037 by the m22’ -
- 15NN NDY WY NI BWA 52957 Y /N %195 BNY PIY 2IWm

And the X723 answers; the P09 states, ‘'77 %1% am» Pxa%’, an ¥ which is in the

presence of ', the v°X bears, but not where it leaves the presence of 'n. This

concludes the citation of the X713 N90IN continues with his question -
=5919) D19 Y ON 9INRP INII 291 N33 39) MIPNRY NINT 91N 15 ON)

So therefore by the 7awnn of 2112 1 9139, let us also say the same thing that
the 7°¥ cannot be 1951 on 12PAY I 2wnH, so how can the X2 state, 13 1Y aN

'12%, when even without the 0w of 2wWn> X7 73 XY, it cannot apply to ¥pn? ¥ since it is not
"1 219571

moon answers and distinguishes between the two cases:

1119213599 OWUN 295 NXONINY 2WNM AN 71 2395 139N INTI N¥T 919D U
And one can say; that a 8xY (a 1277 that actually left the 771v) is certainly not
"7 9199 (and therefore X7 »1¥*1 is not applicable); however by just thinking to be

X2 (but the 1277 is actually in the 71¥) we consider that to be '77 918% (and %™
7> would be applicable if not for the v1v 1 of 121 737 X?).

SUMMARY

77X X" is applicable only to something which is Y2951 21 where the 0 is not
the preferred mode of service. Thinking about ¥pn%? v is not XXV and is
considered '77 °19%.

THINKING IT OVER

Why is 2xnw 119 not considered 1795n 2071 (since there is no Y¥»wa 17w on 2")'” and
1P In by ama is considered'® 1999m ami (even though there is no 1w of N
P by a ina) 2!

" If the 7wa leaves the 1Y before n7a NP> the 127p is 2109.
' By a 7n2 where there is no 771y or 7¥°nn the concept of X1 does not apply.
19 The y>¥ is not 7¥7 on a X¥ and the 127p remains 2109.
17 See footnote # 13.
'8 See footnote # 8.
% See LMY 727.
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